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TF951-1, Fig. B4Wd: 16 équidistants étaésCq; W-Mg; W-Yq; W-N; rgb/cmy0->rghy setrgbcolor
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TF951-3, Fig. B5Wd: code et Landolt annNaCGq; Mq; Yq; Z; PSoperatorgb—>rgbq setrgbcolor
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TF950-7, Fig. B3Wd: 14 CIE test couleurs et 2 + 16 gris étapesdsfgmy0—>rghy setrgbcolor
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radial callebotis W-Cq radial callebotis W-Mgradial callebotis W-Y{ radial callebotis W-N radial callebotis W-Z anneaux LandoltW-Cy Code anneaux LandoltW-Mgy Code
TF950-5, Fig. B2Wd: radial callebot®—-Cg; W-Mg; W-Yg; W-N; PSoperatorgb->rgby setrgbcolor TF951-5, Fig. B6Wd: anneaux Landait-Cq; W-Mq; PSoperatorgb—>rghy setrgbcolor
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TF951-7, Fig. B7Wd: anneaux Land@it-Yg; W-N; PSoperatorgb—>rgbq setrgbcolor
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